General Information Phone: (505) 629-6116

Online Phone Directory https://www.emnrd.nm.gov/ocd/contact-us

Summary of Daily Activity

Daily reported grand total

## State of New Mexico Energy, Minerals and Natural Resources Oil Conservation Division 1220 S. St Francis Dr. Santa Fe, NM 87505

QUESTIONS

Action 506575

### **QUESTIONS**

Operator:	OGRID:
Young Environmental Services, Inc. dba Enviro	333601
5796 US HWY 64	Action Number:
Farmington, NM 87401	506575
	Action Type:
	[UF-OMA] Vendor Facility Daily Detail (UF-OMA-DAYF)
QUESTIONS	
Purchase Order Information	
Purchase Order (PO) number	52100-0000081418
PO Line item	1
Reporting Dates For Invoicing	
Date of Daily Report	09/15/2025

\$38109.00

incurred in the non-bid item category

Excavation and hauling activities continued. A total of \$2,802.90 of additional cost was

General Information Phone: (505) 629-6116

Online Phone Directory https://www.emnrd.nm.gov/ocd/contact-us

## State of New Mexico Energy, Minerals and Natural Resources Oil Conservation Division 1220 S. St Francis Dr. Santa Fe, NM 87505

QUESTIONS, Page 5

Action 506575

**QUESTIONS** (continued)

Operator:	OGRID:
Young Environmental Services, Inc. dba Enviro	333601
5796 US HWY 64	Action Number:
Farmington, NM 87401	506575
	Action Type:
	[UF-OMA] Vendor Facility Daily Detail (UF-OMA-DAYF)

### QUESTIONS

Environmental Personnel (Portal to Portal)	
106. F1. Principal, per hour 1 [hour] @ \$150 / hour = \$150.00	
109. F4. Staff scientist, per hour	9.5 [hours] @ \$87 / hour = <u>\$826.50</u>
113. F8. Field technician, per hour	6 [hours] @ \$75 / hour = <u>\$450.00</u>
Group subtotal \$1426.50	

General Information Phone: (505) 629-6116

Online Phone Directory https://www.emnrd.nm.gov/ocd/contact-us

# State of New Mexico Energy, Minerals and Natural Resources Oil Conservation Division 1220 S. St Francis Dr. Santa Fe, NM 87505

QUESTIONS, Page 6

Action 506575

**QUESTIONS** (continued)

Operator:	OGRID:
Young Environmental Services, Inc. dba Enviro	333601
5796 US HWY 64	Action Number:
Farmington, NM 87401	506575
	Action Type:
	[UF-OMA] Vendor Facility Daily Detail (UF-OMA-DAYF)

### QUESTIONS

Equipment (Price Listed Includes Operator and Fuel)		
120. G3. Loader (3.5-yard bucket) - Caterpillar938 or equivalent, per hour 9 [hours] @ \$165 / hour = \$1485.00		
121. G4. Grader - 140H Model, 185HP or equivalent, per hour	6 [hours] @ \$145 / hour = <u>\$870.00</u>	
125. G8. 18 yard dump truck or belly dump, per hour	111.25 [hours] @ \$150 / hour = <u>\$16687.50</u>	
Group subtotal \$19042.50		

Equipment Not Requiring Operator	
136. H1. Support vehicle, per day	3 [days] @ \$250 / day = <u>\$750.00</u>
143. H8. Organic Vapor Meter (PID/FID), per day	1 [day] @ \$75 / day = <u>\$75.00</u>
Group subtotal	\$825.00

General Information Phone: (505) 629-6116

Online Phone Directory https://www.emnrd.nm.gov/ocd/contact-us

## State of New Mexico Energy, Minerals and Natural Resources Oil Conservation Division 1220 S. St Francis Dr. Santa Fe, NM 87505

QUESTIONS, Page 7

Action 506575

**QUESTIONS** (continued)

Operator:	OGRID:
Young Environmental Services, Inc. dba Enviro	333601
5796 US HWY 64	Action Number:
Farmington, NM 87401	506575
	Action Type:
	[UF-OMA] Vendor Facility Daily Detail (UF-OMA-DAYF)

### QUESTIONS

Clean and Contaminated Soil Service	
150. J1. Disposal of contaminated soil, \$ per cubic yard	580 [cu. yards] @ \$23 / cu. yard = <u>\$13340.00</u>
151. J2. Provide clean soil, \$ per cubic yard	500 [cu. yards] @ \$6.95 / cu. yard = <u>\$3475.00</u>
Group subtotal	\$16815.00

General Information Phone: (505) 629-6116

Online Phone Directory <a href="https://www.emnrd.nm.gov/ocd/contact-us">https://www.emnrd.nm.gov/ocd/contact-us</a>

# State of New Mexico Energy, Minerals and Natural Resources Oil Conservation Division 1220 S. St Francis Dr. Santa Fe, NM 87505

CONDITIONS

Action 506575

### **CONDITIONS**

Operator:	OGRID:
Young Environmental Services, Inc. dba Enviro	333601
5796 US HWY 64	Action Number:
Farmington, NM 87401	506575
	Action Type:
	[UF-OMA] Vendor Facility Daily Detail (UF-OMA-DAYF)

### CONDITIONS

Created By	Condition	Condition Date
amaxwell	None	9/24/2025